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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Sonia Ltd. is considering the purchase of a machine. 

The machines A and B are available each costing  
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` 30,000. A discount rate of 8% is to be used. Earning 

after taxation are expected to be as follows : 

Year 

Cash Inflows 

Machine „A‟ Machine „B‟ 

¼`½ ¼`½ 

1 7,500 5,000 

2 10,000 12,500 

3 10,000 10,000 

4 7,500 10,000 

5 5,000 2,500 

Indicate which machine would be a more profitable 

investment ? Discounting factor @ 8% are : 

Year Factor 

1 

2 

3 

4 

5 

0.926 

0.857 

0.794 

0.735 

0.681 

lksfu;k fy- ,d e’khu Ø; djus dk fopkj dj jgh gSA 

e’khu A ,oa B izR;sd ` 30,000 dh ykxr ij miyC/k gSA  

8% cêk nj iz;ksx djuk gSA dj ds ckn dk vtZu dk 

vuqeku vxz izdkj gS % 
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o”kZ 

jksdM+ var izsokg 

e’khu „A‟ e’khu „B‟ 

¼`½ ¼`½ 

1 7,500  5,000 

2 10,000 12,500 

3 10,000 10,000 

4   7,500 10,000 

5   5,000   2,500 

crkb, dkSu&lh e’khu vf/kd ykHkizn gksxh \ 8% cêk 

dkjd gSa % 

o”kZ dkjd 

1 

2 

3 

4 

5 

0.926 

0.857 

0.794 

0.735 

0.681 

2. Define long-term capital. Discuss the main sources of 

long-term capital. 

nh?kZdkyhu iw¡th dks ifjHkkf”kr dhft,A nh?kZdkyhu iw¡th ds 

izeq[k lzksrksa dk o.kZu dhft,A 

3. What is meant by Capital Structure and how is it 

determined ? How would you measure the 

effectiveness of the capital structure ? 

iw¡th <k¡ps ls vkidk D;k rkRi;Z gS rFkk bldk fuekZ.k fdl 

izdkj fd;k tkrk gS \ fdlh iw¡th <k¡ps dh izHkkoksRikndrk 

dk ekiu vki fdl izdkj djsaxs \ 
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4. What is dividend policy ? Explain the various factors 

determining the dividend policy of a company. 

ykHkka’k uhfr D;k gS \ mu dkjdksa dh O;k[;k dhft, tks 

,d dEiuh dh ykHkka’k uhfr dks fu/kkZfjr djrs gSaA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. The average rate of dividend paid by Nova Ltd. for the 

last ten years is 7%. The earnings of the company have 

recorded a growth rate of 3% per annum every year. 

The market value of the equity shares is estimated to 

be ` 120. Find out the cost of equity share capital. 

uksok fy- }kjk Hkqxrku dh x;h ykHkka’k dh vkSlr nj fiNys 

10 o”kks± dh 7% gSA dEiuh dh vtZuksa dh o`f) 3% okf”kZd 

izfr o”kZ fy[kh gqbZ gSA lerk va’kksa dk cktkj ewY; ` 120 

vuqekfur fd;k x;k gSA lerk va’k iw¡th dh ykxr 

fudkfy,A 

2. Adarsha Ltd. has earned the profit in the last seven 

years ` 24,000 (Loss); ` 1,00,000; ` 1,02,000;  
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` 1,09,000; ` 96,000; ` 1,06,000 and ` 1,07,000 

respectively. A sum of ` 18,000 as profit and sale of 

fixed assets in included in the profit of 3rd year, while 

the profit of fifth year is given after deduction of 

capital loss of ` 4,000. The tax rate is 40% on profit. 

Assuming 1
2

12 %  rate of return find out the amount of 

capitalisation. 

vkn’kZ fyfeVsM us fiNys lkr o”kks± esa Øe’k% ` 24]000 

¼gkfu½( ` 1]00]000( ` 1]02]000( ` 1]09]000( ` 96]000(  

` 1]06]000 ,oa ` 1]07]000 dk ykHk vftZr fd;k gSA 

dEiuh ds r`rh; o”kZ ds ykHk esa ` 18]000 LFkk;h lEifŸk ds 

foØ; ls izkIr ykHk ds ‘kkfey gSa] tcfd iape o”kZ dk ykHk 

` 4]000 dh iw¡thxr gkfu ?kVkus ds i’pkr~ fn;k x;k gSA 

ykHk ij dj dh nj 40% gSA  

1
2

12 %izR;k; dh nj ekurs gq, iw¡thdj.k dh jkf’k Kkr 

dhft,A 

3. What is leverage ? Explain its types. 

yhojst D;k gS \ blds izdkj dh O;k[;k dhft,A 

4. Explain the objectives and scope of International 

Financial Management. 

vUrjkZ”Vªh; foŸkh; izcU/k ds mís’; ,oa {ks= dh foospuk 

dhft,A 

5. Briefly explain the concept of „Time Value of  

Money‟. 

^eqnzk dk le; ewY;* dh vo/kkj.kk dh la{ksi esa O;k[;k 

dhft,A 

6. Explain the different types of Dividend Policies. 

ykHkka’k uhfr ds fofHkUu izdkjksa dh O;k[;k dhft,A 
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7. What factors should be considered while estimating the 

working capital ? 

dk;Z’khy iw¡th dk vuqeku yxkrs le; fdu dkjdksa dks 

/;ku esa j[kuk pkfg, \ 

8. What are the important motives for holding cash in a 

firm ? 

,d QeZ esa udnh j[kus ds eq[; mís’; D;k gSa \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or 

False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. Profit Maximization is considered to be a better 

objective of Financial Management. 

ykHk dks vf/kdre djuk] foŸkh; izcU/k dk csgrj mís’; 

ekuk tkrk gSA 

2. If NPV of the project is zero, its profitability index will 

be 1. 

;fn fdlh ifj;kstuk dh NPV ‘kwU; gS] rks bldk 

ykHknk;drk lwpdkad 1 gksxkA 
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3. Cost of Retained earnings is the part of Cost of Capital. 

lafpr vk;ksa dh ykxr] iw¡th ykxr dk gh Hkkx gSA 

4. Financial Leverage is sometimes called as Trading on 

Equity. 

foŸkh; yhojst dks VªsfMax vkWu bfDoVh Hkh dgk tkrk gSA 

5. Operating Cycle method is used for computing 

working capital. 

lapkyu pØ fof/k] dk;Z’khy iw¡th dh x.kuk dh fof/k gSA 

6. Lower depreciation charge means higher tax liability. 

de kl izko/kku dk vk’k; ns; dj esa o`f) ls gSA 

7. A company can distribute dividend in the form of stock 

dividend. 

,d dEiuh ykHkka’k dk forj.k LdU/k forj.k ds :i esa dj 

ldrh gSA 

8. The amount of working capital cannot be changed. 

dk;Z’khy iw¡th dh ek=k esa ifjorZu ugha fd;k tk ldrkA 

9. The volume of sales is influenced by credit policy.  

fcØh dh ek=k lk[k uhfr ls izHkkfor gksrh gSA 

10. Reorder level is lower than safety stock level. 

lqjf{kr Hk.Mkj Lrj dh rqyuk esa iqu%vkns’k Lrj uhpk gksrk 

gSA 
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